


Full Height Door Base
NO. Description QTY

A BACK PANEL 1

B SIDE PANEL 2

C TOP&BOTTOM PANEL 1

D FACE FRAME 1

E TOE KICK 1

F CABINETS DOOR 1

ASSEMBLY INSTRUCTIONS

Getting started:

prepare a protection layer, a screwdriver

STEP 1: Joint side panel with back panel

STEP 2: Joint bottom panel with side panel

STEP 3: Joint side panel with bottom & back panel

STEP 4: Attach frame on and toekick board

STEP 5: Attach the wood block on the top corner

STEP 6: Fix door onto the frame and adjust the cover-space

8 1 1/2" SOFTCLOSE HINGE 2

7 3/4" ROUND HEAD SCREW 2

6 BUMPER 2

5 9/16"ROUND HEAD SCREW 40

4 CLEAT 10

3 1"FLAT HEAD SCREW FOR CARCASS 2

2 WOOD BLOCK 4

1 1" FLAT HEAD SCREW FOR WOOD BLOCK 8

NO. Description QTY PICTURE

PARTS LIST

HARDWARE LIST

STEP:5 STEP:6 

STEP:2
A 

B C 

B 

E 

D 

C 

F 
B D 

E 

Cleat

Bumper

3/4"  round head screw

9/16"  round head screw

1" flat  head screw

1" flat  head screw

Wood block

A 

B 

STEP:1 

A 

B 

D 
E STEP:4 

STEP:3

A

B

BC



Single Door/Single Drawer Base Cabinet
NO. Description QTY

A BACK PANEL 1

B SIDE PANEL 2

C TOP&BOTTOM PANEL 1

D TOE KICK 1

E FACE FRAME 1

F DRAWER BOX FRONT AND BACK 2

G DRAWER BOX SIDE 2

H DRAWER BOX BOTTOM 1

ASSEMBLY INSTRUCTIONS

Getting started:

prepare a protection layer, a screwdriver

STEP 1: Joint side panel with back panel

STEP 2: Joint bottom panel with side panel

STEP 3: Joint side panel with bottom & back panel

STEP 4: Attach frame on and toekick board

STEP 5: Joint the drawer together, then install the drawer guide.

STEP 6: Attach the wood block on the top corner,and put on the adjustable shelf

STEP 7: Fix drawer head on the drawer front and fix door onto the frame and adjust the cover-space I ADJUSTABLE SHELF 1

J DRAWER HEAD 1

K CABINETS DOOR 1

11 1 1/2" SOFTCLOSE HINGE 2

10 3/4" ROUND HEAD SCREW 2

9 BUMPER 6

8 1" ROUND HEAD SCREW 4

7 Selfclose slider 1

6 SHELF CLIP 4

5 9/16"ROUND HEAD SCREW 40

4 CLEAT 10

3 1"FLAT HEAD SCREW FOR CARCASS 2

2 WOOD BLOCK 4

1 1" FLAT HEAD SCREW FOR WOOD BLOCK 8

NO. Description QTY PICTURE

PARTS LIST

HARDWARE LIST

E 
I 

J 

K 

A 

B 

D 

E B 

D 

C 

F 

G 
H H 

Cleat

Bumper

3/4"  round head screw

Wood block

Shelf clip

1" flat  head screw

1" flat  head screw

Selfclose slider

1" round head screw

9/16"  round head screw

A 

B 

STEP:1 

STEP:2 
A 

B C 

A 

B 

D 
E STEP:4 

F 
G 

G 

H 

F 
Drawer Box 

B 

D 

C 

A 

F 

G 
H 

E 

STEP:5 

STEP:6 STEP:7 

STEP:3

A

B

BC



Double Door Single Drawer Base
NO. Description QTY
A BACK PANEL 1
B S IDE PANEL 2
C TOP&BOTTOM PANEL 1
D TOE K ICK 1
E FACE FRAME 1
F DRAWER  BOX FRONT AND BACK 2
G DRAWER B OX S IDE 2
H DRAWER  BOX BOTTOM 1

ASSEMBLY INSTRUC TIONS
Getting started:
prepare a protection layer, a screwdriver
S TEP 1 : Joint side panel with back panel
S TEP 2 : Joint bottom panel with side panel
S TEP 3 : Joint side panel with bottom & back panel
S TEP 4 : Attach frame on and toekick board
S TEP 5 : Joint the drawer together, then install the drawer guide.
S TEP 6 : Attach the wood block on the top corner,and put on the adjustable shelf
S TEP 7 : Fix drawer head on the drawer front and fix door onto the frame and adjust the cover-space I ADJUSTABLE SHE LF 1

J DRAWER HEAD 1
K CAB INETS D OOR 2

11 S OFT CLOSE HINGE 4

10 3/4" ROUND HEAD SCREW 4

9 BUMPER 8

8 1" R OUND HEAD SCREW 4

7 Selfclose slider 1

6 SHE LF  C LIP 4

5 9/16"ROUND  HEAD  SCREW 44

4 CLEAT 11

3 1"FLAT HEAD SCREW FOR CARCASS 3

2 WOOD BLOCK 4

1 1" FLAT HEAD  SCRE W FOR  WOOD BLOCK 8

NO. Description QTY PICTURE

PAR TS LIST

HARDWARE LIST

B

C

I

J

K
K

I
B

E

C

E

D

Cleat

Bumper

3/4"  round head screw

Wood block

Shelf clip

Selfclose slider

1" round head screw

1" flat head screw

1" flat head screw

9/16"  round head screw

FG

G
H

F Drawer Box

A

B

STEP:1
STEP:2A

BC

A
B

D
E STEP:4 B

D

C

A

F

G H

E

STEP:5

STEP:3

A
B

BC



Double Door Double Drawer Base Cabinet
NO. Description QTY

A BACK PANEL 1

B SIDE PANEL 2

C TOP&BOTTOM PANEL 1

D TOE KICK 1

E FACE FRAME 1

F DRAWER BOX FRONT AND BACK 4

G DRAWER BOX SIDE 4

H DRAWER BOX BOTTOM 2

ASSEMBLY INSTRUCTIONS

Getting started:

prepare a protection layer, a screwdriver

STEP 1: Joint side panel with back panel

STEP 2: Joint bottom panel with side panel

STEP 3: Joint side panel with bottom & back panel

STEP 4: Attach frame on and toekick board

STEP 5: Joint the drawer together, then install the drawer guide.

STEP 6: Attach the wood block on the top corner,and put on the adjustable shelf

STEP 7: Fix drawer head on the drawer front and fix door onto the frame and adjust the cover-space I ADJUSTABLE SHELF 1

J DRAWER HEAD 2

K CABINETS DOOR 2

11 1 1/2" SOFTCLOSE HINGE 4

10 3/4" ROUND HEAD SCREW 4

9 BUMPER 12

8 1" ROUND HEAD SCREW 8

7 Selfclose slider 2

6 SHELF CLIP 4

5 9/16"ROUND HEAD SCREW 44

4 CLEAT 11

3 1"FLAT HEAD SCREW FOR CARCASS 4

2 WOOD BLOCK 4

1 1" FLAT HEAD SCREW FOR WOOD BLOCK 8

NO. Description QTY PICTURE

PARTS LIST

HARDWARE LIST

STEP:5 

STEP:6 STEP:7 

STEP:4 

B 

D 

E B 

D 

E I 

C 

A 

B 

D 

E 
I 

C 

A 

B 

D 

I 

C 

A 

J 
J 

K 

K 

Cleat

Bumper

3/4"  round head screw

Wood block

Shelf clip

Selfclose slider

1" round head screw

1" flat  head screw

1" flat  head screw

9/16"  round head screw

F 
G 

G 

H 

F 
Drawer Box 

A 

B 

STEP:1 STEP:2 
A 

B C 

STEP:3

A

B

BC



Sink Base/Vanity Sink Base
NO. Description QTY

A BACK PANEL 1

B SIDE PANEL 2

C TOP&BOTTOM PANEL 1

D TOE KICK 1

E FACE FRAME 1

F DRAWER HEAD 2

G CABINETS DOOR 2

ASSEMBLY INSTRUCTIONS

Getting started:

prepare a protection layer, a screwdriver

STEP 1: Joint side panel with back panel

STEP 2: Joint bottom panel with side panel

STEP 3: Joint side panel with bottom & back panel

STEP 4: Attach frame on and toekick board

STEP 5: Attach the wood block on the top corner

STEP 6: Fix door&drawer head onto the frame and adjust the cover-space

8 1 1/2" SOFTCLOSE HINGE 4

7 3/4" ROUND HEAD SCREW 4

6 BUMPER 4

5 9/16"ROUND HEAD SCREW 44

4 CLEAT 11

3 1"FLAT HEAD SCREW FOR CARCASS 4

2 WOOD BLOCK 4

1 1" FLAT HEAD SCREW FOR WOOD BLOCK 8

NO. Description QTY PICTURE

PARTS LIST

HARDWARE LIST

STEP:5 STEP:6 

A 

B 

C 

D 

E 

A 

B 

C 

D 

F F 

G 
G 

Cleat

Bumper

3/4"  round head screw

Wood block

1" flat  head screw

1" flat  head screw

9/16"  round head screw

A 

B 

STEP:1 

STEP:2 
A 

B C 

STEP:4

B

D

E

STEP:3

A

B

BC



Farm Sink Base
NO. Description QTY

A BACK PANEL 1

B SIDE PANEL 2

C TOP&BOTTOM PANEL 1

D TOE KICK 1

E FACE FRAME 1

F DRAWER HEAD 2

G CABINETS DOOR 2

ASSEMBLY INSTRUCTIONS

Getting started:

prepare a protection layer, a screwdriver

STEP 1: Joint side panel with back panel

STEP 2: Joint bottom panel with side panel

STEP 3: Joint side panel with bottom & back panel

STEP 4: Attach frame on and toekick board

STEP 5: Attach the wood block on the top corner

STEP 6: Fix door&drawer head onto the frame and adjust the cover-space

8 HINGE 4

7 3/4" ROUND HEAD SCREW 4

6 BUMPER 4

5 9/16"ROUND HEAD SCREW 44

4 CLEAT 11

3 1"FLAT HEAD SCREW FOR CARCASS 4

2 WOOD BLOCK 4

1 1" FLAT HEAD SCREW FOR WOOD BLOCK 8

NO. Description QTY PICTURE

PARTS LIST

HARDWARE LIST

STEP:5 STEP:6

A

B

C

D

E

A

B

D

G G

Cleat

Bumper

3/4"  round head screw

Wood block

1" flat head screw

1" flat head screw

9/16"  round head screw

A

B

STEP:1

STEP:2
A

BC

STEP:3

A

B

BC

STEP:4

B

D

E

E



Two Drawer Base
NO. Description QTY
A BACK PANEL 1
B SIDE PANEL 2
C TOP&BOTTOM PANEL 1
D TOE KICK 1
E FACE FRAME 1
F DRAWER BOX FRONT AND BACK 4
G DRAWER BOX SIDE 4
H DRAWER BOX BOTTOM 2
I DRAWER HEAD 2

ASSEMBLY INSTRUCTIONS
Getting started:
prepare a protection layer, a screwdriver
STEP 1:  Joint side panel with back panel
STEP 2:  Joint bottom panel with side panel
STEP 3:  Joint side panel with bottom & back panel
STEP 4: Attach frame on and toekick board
STEP 5:  Joint the drawer together, then install the drawer guide.
STEP 6:  Attach the wood block on the top corner,and put on the adjustable shelf 
STEP 7:  Fix drawer head on the drawer front and adjust the cover-space

8 BUMPER 8

7 1" ROUND HEAD SCREW 8

6 21" SELFCLOSE SLIDE 2

5 9/16"ROUND HEAD SCREW 40

4 CLEAT 10

3 1"FLAT HEAD SCREW FOR CARCASS 2

2 WOOD BLOCK 4

1 1" FLAT HEAD SCREW FOR WOOD BLOCK 8

NO. Description QTY PICTURE

PARTS LIST

HARDWARE LIST

STEP:4

STEP:5

STEP:6 STEP:7

A

B

D

E

BC

A

D
E

A

B
E

D

A

F

F
B

D

I

I

Cleat

Bumper

Wood block

Selfclose slider

1" round head screw

1" flat head screw

1" flat head screw

9/16"  round head screw

Drawer Box

FG

G
H

F

A

B

STEP:1 STEP:2A
BC

STEP:3

A
B

BC



Three Drawer Base
NO. Description QTY

A BACK PANEL 1

B SIDE PANEL 2

C TOP&BOTTOM PANEL 1

D TOE KICK 1

E FACE FRAME 1

F DRAWER BOX FRONT AND BACK 6

G DRAWER BOX SIDE 6

H DRAWER BOX BOTTOM 3

I DRAWER HEAD 3

ASSEMBLY INSTRUCTIONS

Getting started:

prepare a protection layer, a screwdriver

STEP 1: Joint side panel with back panel

STEP 2: Joint bottom panel with side panel

STEP 3: Joint side panel with bottom & back panel

STEP 4: Attach frame on and toekick board

STEP 5: Joint the drawer together, then install the drawer guide.

STEP 6: Attach the wood block on the top corner,and put on the adjustable shelf 
STEP 7: Fix drawer head on the drawer front and adjust the cover-space

8 BUMPER 12

7 1" ROUND HEAD SCREW 12

6 21" SELFCLOSE SLIDE 3

5 9/16"ROUND HEAD SCREW 40

4 CLEAT 10

3 1"FLAT HEAD SCREW FOR CARCASS 2

2 WOOD BLOCK 4

1 1" FLAT HEAD SCREW FOR WOOD BLOCK 8

NO. Description QTY PICTURE

PARTS LIST

HARDWARE LIST

STEP:4 

STEP:5 

STEP:6 STEP:7 

A 

B 

D 

E 

B C 

A 

D 

E 

A 

B 

E 

D 

A 

F 

F 

F 

B 

D 

I 

I 

I 

Cleat

Bumper

Wood block

Selfclose slider

1" round head screw

1" flat  head screw

1" flat  head screw

9/16"  round head screw

Drawer Box 

F
G

G

H

F

A

B

STEP:1
STEP:2

A

BC

STEP:3

A

B

BC



Base Easy Reach
NO. Description QTY

A SIDE PANEL 2

B BACK PANEL 2

C TOP&BOTTOM PANEL 1

D TOE KICK 1

E TOE KICK 1

F FACE FRAME 1

G FACE FRAME 1

H CONNECT STRIP 1

I BACK PANEL 1

J ADJUSTABLE SHELF 1

K CABINETS DOOR 2

ASSEMBLY INSTRUCTIONS

Getting started:

prepare a protection layer, a screwdriver

STEP 1: Joint right side panel with right back panel

STEP 2: Fix the bottom panel on

STEP 3: Joint right side panel with right back panel

STEP 4: Attach toe-kick on

STEP 5: turn the carcase stand

STEP 6: Attach face frame(long and short), then screw up

STEP 7: Attach top panel using screw

STEP 8: Insert back panel through the groove

STEP 9: Install the wood block corner

STEP 10: Hinge the door onto the face frame and adjust the cover-space

11 135 DEGREE HINGE 2

10 3/4" ROUND HEAD SCREW 8

9 BUMPER 4

8 165 DEGREE HINGE 2

7 SHELF CLIP 6

6 9/16"ROUND HEAD SCREW 72

5 DOWEL 6

4 1"FLAT HEAD SCREW FOR CARCASS 11

3 CLEAT 18

2 WOOD BLOCK 4

1 1" FLAT HEAD SCREW FOR WOOD BLOCK 8

NO. Description QTY PICTURE

PARTS LIST

HARDWARE LIST
STEP:1 STEP:2 

STEP:3 

STEP:4 STEP:5 STEP:6 

STEP:7 STEP:8 STEP:9 
STEP:10 

A 

B 

A 

B 

C A 

B 

A 

B 

C 

A 

B 

A 

B 

C D 

E 

A 

B 

A 

B 

C 

D E 

F 
G A 

B 

A 

B 

C 

D E 

A 

B 

A 

B 

C 

D E 

F 
G 

H 

A 

B 

A 

B 

F G 

H 

D E 

C 

I 

J 

K A 

B 
H 

I 

A 

B 

F G 

D E 

C 

J 
A 

D E 

C 

F J 

G 
B 

I B 
H 

Cleat

Bumper

3/4"  round head screw

Wood block

Shelf clip

1" flat  head screw

1" flat  head screw

Dowel

9/16"  round head screw

135° hinge

165° hinge



Blind Base
NO. Description QTY

A BACK PANEL 1

B SIDE PANEL 2

C TOP&BOTTOM PANEL 1

D TOE KICK 1

E FACE FRAME 1

F DRAWER BOX FRONT AND BACK 2

G DRAWER BOX SIDE 2

H DRAWER BOX BOTTOM 1

ASSEMBLY INSTRUCTIONS

Getting started:

prepare a protection layer, a screwdriver

STEP 1: Joint side panel with back panel

STEP 2: Joint bottom panel with side panel

STEP 3: Joint side panel with bottom & back panel

STEP 4: Attach frame on and toekick board

STEP 5: Joint the drawer together, then install the drawer guide.

STEP 6: Attach the wood block on the top corner,and put on the adjustable shelf

STEP 7: Fix drawer head on the drawer front and fix door onto the frame and adjust the cover-space I ADJUSTABLE SHELF 1

J CABINETS DOOR 1

K DRAWER HEAD 1

11 1 1/2" SOFTCLOSE HINGE 2

10 3/4" ROUND HEAD SCREW 2

9 BUMPER 6

8 1" ROUND HEAD SCREW 4

7 Selfclose slider 1

6 SHELF CLIP 4

5 9/16"ROUND HEAD SCREW 44

4 CLEAT 11

3 1"FLAT HEAD SCREW FOR CARCASS 5

2 WOOD BLOCK 4

1 1" FLAT HEAD SCREW FOR WOOD BLOCK 8

NO. Description QTY PICTURE

PARTS LIST

HARDWARE LIST

STEP:2
A

BC

STEP:4 

STEP:5 

STEP:6 STEP:7 

A 

A 

A 
A 

B 

B B 

C 

C 

C 
C 

D D 

D D 

E 

E 

E 

E 

K 

J 

I 

Cleat

Bumper

3/4"  round head screw

Wood block

Shelf clip

Selfclose slider

1" round head screw

1" flat  head screw

1" flat  head screw

9/16"  round head screw

F 
G 

G 

H 

F 
Drawer Box 

A

B

STEP:1

STEP:3

A

B

BC



Base End Cabinet
NO. Description QTY

A SIDE PANEL 1

B SIDE PANEL 1

C TOP&BOTTOM PANEL 2

D TOE KICK 2

E FACE FRAME 2

F ADJUSTABLE SHELF 2

G CABINETS DOOR 2

ASSEMBLY INSTRUCTIONS

Getting started:

prepare a protection layer, a screwdriver

STEP 1: Joint two side panel together

STEP 2: Attach top panel

STEP 3: Attach bottom panel

STEP 4: Attach toekick on

STEP 5: Attach frame on

STEP 6: Put on the adjustable shelves

STEP 7: Hinge the door onto the face frame and adjust the cover-space

9 Wood Block 2

8 135 DEGREE ANGLE 3

7 1 1/2" SOFTCLOSE HINGE 4

6 3/4" ROUND HEAD SCREW 4

5 BUMPER 4

4 SHELF CLIP 12

3 9/16"ROUND HEAD SCREW 78

2 CLEAT 18

1 1"FLAT HEAD SCREW FOR CARCASS 5

NO. Description QTY PICTURE

PARTS LIST

HARDWARE LIST

STEP:1 STEP:2 

STEP:4 STEP:5 

STEP:6 
STEP:7 

A 

B 

C 

D 

D 

E 

E 

F 

F G G 

A 

B 

STEP:3 

C 

A 

B 

C 

C 

A 

B 

C A 

B 

C 

C 

D 

D 

A B 
C 

D D 
C 

A B 
C 

D D 

Cleat

Bumper

3/4"  round head screw

Shelf clip

9/16"  round head screw

135° angle

1" flat  head screw



Base Microwave
NO. Description QTY

A BACK PANEL 1

B SIDE PANEL 2

C TOP&BOTTOM PANEL 2

D TOE KICK 1

E FACE FRAME 1

F DRAWER BOX FRONT AND BACK 2

G DRAWER BOX SIDE 2

H DRAWER BOX BOTTOM 1

ASSEMBLY INSTRUCTIONS

Getting started:

prepare a protection layer, a screwdriver

STEP 1: Joint side panel with back panel

STEP 2: Joint bottom panel with side panel

STEP 3: Joint side panel with bottom & back panel

STEP 4: Attach frame on and toekick board

STEP 5: Attach the wood block on the top corner.

STEP 6: Joint the drawer together, then install the drawer guide.

STEP 7: Fix drawer head on the drawer front and adjust the cover-space I DRAWER HEAD 1

7 BUMPER 4

6 Selfclose slider 1

5 9/16"ROUND HEAD SCREW 56

4 CLEAT 14

3 1"FLAT HEAD SCREW FOR CARCASS 4

2 WOOD BLOCK 4

1 1" FLAT HEAD SCREW FOR WOOD BLOCK 8

NO. Description QTY PICTURE

PARTS LIST

HARDWARE LIST

STEP:4 

STEP:6 
STEP:7 

STEP:5 

Cleat

Bumper

Wood block

Selfclose slider

1" flat head screw

1" flat head screw

9/16"  round head screw

F 
G 

G 

H 

F 
Drawer Box 

A 

B 

STEP:1 STEP:2 

A 

B C 

A 

I 

B 

A 

E 

B 

C 

D 

A 
E 

C 

D 

B 

D 

C 

A 

B 

C 

STEP:3 

A 

B 

B 

CC 

D 

E 

E 



Drawer File Base
NO. Description QTY

A BACK PANEL 1

B SIDE PANEL 2

C TOP&BOTTOM PANEL 1

D TOE KICK 1

E FACE FRAME 1

F DRAWER BOX FRONT AND BACK 4

G DRAWER BOX SIDE 4

H DRAWER BOX BOTTOM 2

ASSEMBLY INSTRUCTIONS

Getting started:

prepare a protection layer, a screwdriver

STEP 1: Joint side panel with back panel

STEP 2: Joint bottom panel with side panel

STEP 3: Joint side panel with bottom & back panel

STEP 4: Attach frame on and toekick board

STEP 5: Attach the wood block on the top corner

STEP 6: Joint the drawer together, then install the drawer guide

STEP 7: Fix drawer head on the drawer front and adjust the cover-space I DRAWER HEAD 1

J DOOR 1

8 BUMPER 8

7 1" ROUND HEAD SCREW 8

6 Selfclose slider 2

5 9/16"ROUND HEAD SCREW 40

4 CLEAT 10

3 1"FLAT HEAD SCREW FOR CARCASS 2

2 WOOD BLOCK 4

1 1" FLAT HEAD SCREW FOR WOOD BLOCK 8

NO. Description QTY PICTURE

PARTS LIST

HARDWARE LIST

STEP:5 STEP:6 
STEP:7 

A A A 

B 
B 

B 

C 

D D D 

E 

E 

E 

I 

J 

Cleat

Bumper

Wood block

Selfclose slider

1" round head screw

1" flat  head screw

1" flat  head screw

9/16"  round head screw

A

B

STEP:1

STEP:2
A

BC

STEP:3

A

B

BC

A

B

D
E STEP:4

F
G

G

H

F
Drawer Box



Desk/Vanity Knee Drawer
NO. Description QTY

A SIDE PANEL 2

B BACK PANEL 1

C FACE FRAME 1

D DRAWER HEAD 1

E DRAWER BOX BOTTOM 1

F DRAWER BOX FRONT AND BACK 2

G DRAWER BOX SIDE 2

ASSEMBLY INSTRUCTIONS

Getting started:

prepare a protection layer, a screwdriver

STEP 1: Joint side panel with back panel

STEP 2: Joint side panel with back panel

STEP 3: Attach frame on and toekick board

STEP 4: Attach the wood block on the top corner

STEP 5: Joint the drawer together, then install the drawer guide.

STEP 6: Fix drawer head on the drawer front and adjust the cover-space H

7 BUMPER 4

6 1" ROUND HEAD SCREW 4

5 18" SELFCLOSE SLIDE 1

4 9/16"ROUND HEAD SCREW 16

3 CLEAT 4

2 WOOD BLOCK 4

1 1" FLAT HEAD SCREW FOR WOOD BLOCK 8

NO. Description QTY PICTURE

PARTS LIST

HARDWARE LIST

STEP:1 STEP:2 STEP:3 

STEP:

STEP:5 

STEP:4 

A A A A 
A 

A 

A 

A 

A 

B 
B 

B 

B 

B 

C C 

C 

C 

D 

Cleat

Bumper

Wood block

Selfclose slider

1" round head screw

1" flat  head screw

9/16"  round head screw

F 
G 

G 

E 

F 
Drawer Box 



NO. Description QTY
Single Door Wall Cabinet

A SIDE PANEL 2

B BACK PANEL 1

C TOP&BOTTOM PANEL 2

D FACE FRAME 1

E ADJUSTABLE SHELF 2 OR 3

F CABINETS DOOR 1

ASSEMBLY INSTRUCTIONS

Getting started:

prepare a protection layer, a screwdriver

STEP 1: Joint side panel with back panel

STEP 2: Joint top panel with side panel

STEP 3: Joint bottom panel with side panel

STEP 4: Attach frame on

STEP 5: Put on the adjustable shelves

STEP 6: Fix door onto the frame and adjust the cover-space

7 1 1/2" SOFTCLOSE HINGE 2

6 3/4" ROUND HEAD SCREW 2

5 BUMPER 2

4 SHELF CLIP 8

3 9/16"ROUND HEAD SCREW 40

2 CLEAT 10

1 1"FLAT HEAD SCREW FOR CARCASS 4

NO. Description QTY PICTURE

PARTS LIST

HARDWARE LIST

STEP:1 

A 

B 

STEP:4 

A 

A C 

C 
STEP:3 

A 

A C 

C 

STEP:5 STEP:6 

C 

A 

D 

E A 

C 

D 

E F 

Cleat

Bumper

3/4"  round head screw

Shelf clip

9/16"  round head screw

1" flat  head screw

D 
STEP:2 

A 

B 

C 



Wall Easy Reach Cabinet
NO. Description QTY
A SIDE PANEL 2
B SIDE BACK PANEL 2
C TOP&BOTTOM PANEL 2
D BACK PANEL 1
E FACE FRAME 1
F FACE FRAME 1
G ADJUSTABLE SHELF 2 OR 3
H CABINETS DOOR 2

ASSEMBLY INSTRUCTIONS
Getting started:
prepare a protection layer, a screwdriver
STEP 1: Joint right side panel with right side back panel
STEP 2: Fix the bottom/top panel on
STEP 3: Joint left side panel with left side back panel
STEP 4: turn the carcase stand,Insert back panel through the groove 
STEP 5: Attach face frame(long and short), then screw up
STEP 6: Put on the adjustable shelves
STEP 7: Hinge the door onto the face frame and adjust the cover-space

9 135 DEGREE HINGE 3 OR 2

8 3/4" ROUND HEAD SCREW 12 OR 4

7 BUMPER 6

6 165 DEGREE HINGE 3 OR 2

5 SHELF CLIP 24 OR 16

4 9/16"ROUND HEAD SCREW 88

3 DOWEL 4

2 1"FLAT HEAD SCREW FOR CARCASS 6

1 CLEAT 22

NO. Description QTY PICTURE

PARTS LIST

HARDWARE LIST

STEP:1 STEP:2 STEP:3

STEP:4 STEP:5 STEP:6

STEP:7

A

B
A

B

CA

B

A

B
C

A

B

A

BC

DBumper

3/4"  round head screw

Shelf clip

1" flat head screw

Dowel

9/16"  round head screw

Cleat

165°  hinge

135°  hinge

C

C
E F

G

H

H



Wall Open Cabinet
NO. Description QTY
A SIDE PANEL 2
B BACK PANEL 1
C TOP&BOTTOM PANEL 2
E FACE FRAME 1

ASSEMBLY INSTRUCTIONS 
Getting started:
prepare a protection layer, a screwdriver 
STEP 1:  Joint side panel with back panel 
STEP 2:  Joint top panel with side panel 
STEP 3:  Joint bottom panel with side panel 
STEP 4:  Attach front face frame on

3 9/16"ROUND HEAD SCREW 48

2 CLEAT 12

1 1"FLAT HEAD SCREW FOR CARCASS 16

NO. Description QTY PICTURE

PARTS LIST

HARDWARE LIST

STEP:2

STEP:4

A

B
C

E

Cleat

1" flat head screw

9/16"  round head screw

STEP:1
STEP:3

A

B

A
B

C
A C

C
A



NO. Description QTY

Double Door Wall Cabinet

A SIDE PANEL 2

B BACK PANEL 1

C TOP&BOTTOM PANEL 2

D FACE FRAME 1

E ADJUSTABLE SHELF 2 OR 3

F CABINETS DOOR 2

ASSEMBLY INSTRUCTIONS

Getting started:

prepare a protection layer, a screwdriver

STEP 1: Joint side panel with back panel

STEP 2: Joint top panel with side panel

STEP 3: Joint bottom panel with side panel

STEP 4: Attach frame on

STEP 5: Put on the adjustable shelves

STEP 6: Fix door onto the frame and adjust the cover-space

7 1 1/2" SOFTCLOSE HINGE 4

6 3/4" ROUND HEAD SCREW 4

5 BUMPER 4

4 SHELF CLIP 8

3 9/16"ROUND HEAD SCREW 56

2 CLEAT 14

1 1"FLAT HEAD SCREW FOR CARCASS 6

NO. Description QTY PICTURE

PARTS LIST

HARDWARE LIST

STEP:4 

A 

A C 

C 

STEP:6 

A 

C 

E 

D 

F 

F
Cleat

Bumper

3/4"  round head screw

Shelf clip

9/16"  round head screw

1" flat  head screw

D 
STEP:3 

A 

A C 

C 

STEP:1 

A 

B 

STEP:2 

A 

B 

C 

C 

A 

D 

E 

STEP:5 



Wall Blind Cabinet
NO. Description QTY

A SIDE PANEL 2

B BACK PANEL 1

C TOP&BOTTOM PANEL 2

D FACE FRAME 1

E ADJUSTABLE SHELF 2

F CABINETS DOOR 1

ASSEMBLY INSTRUCTIONS

Getting started:

prepare a protection layer, a screwdriver

STEP 1: Joint side panel with back panel

STEP 2: Joint top panel with side panel

STEP 3: Joint bottom panel with side panel

STEP 4: Attach frame on

STEP 5: Put on the adjustable shelves

STEP 6: Fix door onto the frame and adjust the cover-space

7 HINGE 2

6 3/4" ROUND HEAD SCREW 2

5 BUMPER 2

4 SHELF CLIP 8

3 9/16"ROUND HEAD SCREW 56

2 CLEAT 14

1 1"FLAT HEAD SCREW FOR CARCASS 6

NO. Description QTY PICTURE

PARTS LIST

HARDWARE LIST

STEP:1 

STEP:2 STEP:3 
STEP:4 

STEP:5 STEP:6 

A 

B 

A 

B 

C A 
B 

A 

C 

C 

D 

A C 

A 

C 

D 

E 
A 

C 

D 

E 

F Cleat

Bumper

3/4"  round head screw

Shelf clip

9/16"  round head screw

1" flat head screw



Diagonal Corner Wall Cabinet
NO. Description QTY

A FACE FRAME 1

B SIDE PANEL 2

C TOP&BOTTOM PANEL 2

D BACK PANEL 2

E BACK PANEL 1

F ADJUSTABLE SHELF 2

G CABINETS DOOR 1

ASSEMBLY INSTRUCTIONS

Getting started:

prepare a protection layer, a screwdriver

STEP 1: Joint side panel with front face frame

STEP 2: Attach top panel with front face frame and side panel 
STEP 3: Attach top panel with front face frame and side panel 
STEP 4: Attach back panel on side panel

STEP 5: Insert back panel through groove, then screw up 
STEP 6: Hing door on to front face frame and adjust the cover-space

8 1 1/2" SOFTCLOSE HINGE 2

7 3/4" ROUND HEAD SCREW 2

6 BUMPER 2

5 SHELF CLIP 10

4 9/16"ROUND HEAD SCREW 92

3 CLEAT 22

2 1"FLAT HEAD SCREW FOR CARCASS 6

1 135 DEGREE ANGLE 2

NO. Description QTY PICTURE

PARTS LIST

HARDWARE LIST

STEP:1 

STEP:2 STEP:3 STEP:4 

STEP:5 STEP:6 

A 

B 

A 

B 

C 

A 

B 

B 

C 

C C 
B 

D 

D 
E 

B 

A 

A 

B 
B 

C 

F 
G 

A 

B 

C 

F 

C C 

Cleat

Bumper

3/4"  round head screw

Shelf clip

9/16"  round head screw

1" flat  head screw

135° angle



Angle Wall
NO. Description QTY

A RIGHT SIDE PANEL 1

B TOP&BOTTOM PANEL 2

C LEFT SIDE PANEL 1

D FACE FRAME 1

E CABINETS DOOR 1

F ADJUSTABLE SHELF 2 OR 3

ASSEMBLY INSTRUCTIONS

Getting started:

prepare a protection layer, a screwdriver

STEP 1: Joint top&bottom panel with side panel

STEP 2: Attach left side panel

STEP 3: Attach the frame 

STEP 4: Hinge the door to the face frame and adjusrt the cover-space 
STEP 5: Put on the adjustable shelves

6 1 1/2" SOFTCLOSE HINGE 2

5 3/4" ROUND HEAD SCREW 2

4 BUMPER 2

3 SHELF CLIP 8 OR 12

2 9/16"ROUND HEAD SCREW 32

1 CLEAT 8

NO. Description QTY PICTURE

HARDWARE LIST

PARTS LIST

STEP:1 STEP:2 STEP:3 

STEP:4 
STEP:5 

A 

B 

B 

A 

B 

C 

B 

A 

B 

B 

C 

D 

A 

B 

C 

B 

D 

E F 

A 

B 

C 

D 

E 

Cleat

Bumper

3/4"  round head screw

Shelf clip

9/16"  round head screw



NO. Description QTY

Double Door & Four Door 
Utility Cabinets

A SIDE PANEL 2

B TOP&BOTTOM PANEL 3

C TOE KICK 1

D FACE FRAME 1

E BACK PANEL 1

F CABINETS DOOR 1 OR 2

G CABINETS DOOR 1 OR 2

H ADJUSTABLE SHELF 5

ASSEMBLY INSTRUCTIONS

Getting started:

prepare a protection layer, a screwdriver

STEP 1: Joint side panel with top panel

STEP 2: Joint side panel with middle & bottom panel

STEP 3: Joint side panel with middle & bottom panel

STEP 4: Joint side panel with middle & bottom panel

STEP 5: Attach frame on

STEP 6: Put on the adjustable shelves

STEP 7: Fix door onto the frame and adjust the cover-space

7 1 1/2" SOFTCLOSE HINGE 5

6 3/4" ROUND HEAD SCREW 5

5 BUMPER 4

4 SHELF CLIP 20

3 9/16"ROUND HEAD SCREW 56

2 CLEAT 14

1 1"FLAT HEAD SCREW FOR CARCASS 6

NO. Description QTY PICTURE

PARTS LIST

HARDWARE LIST

STEP:1 

STEP:2 STEP:3 

STEP:4 

STEP:5 

STEP:6 STEP:7 

A 

A A 

A 

A 

A 

A 
A 

B 

B 
B B 

B B B 

B B B 

C 

D 

C C 

D 

D 

G E 

F F 

G 

H 

Cleat

Bumper

3/4"  round head screw

Shelf clip

1" flat  head screw

9/16"  round head screw



Oven Cabinet
NO. Description QTY

A SIDE PANEL 2

B TOP&BOTTOM PANEL 3

C BACK PANEL 1

D FACE FRAME 1

E TOE KICK 1

F DRAWER BOX FRONT AND BACK 6

G DRAWER BOX SIDE 6

H DRAWER BOX BOTTOM 3

I DRAWER HEAD 3

ASSEMBLY INSTRUCTIONS

Getting started:

prepare a protection layer, a screwdriver

STEP 1: Joint side panel with top panel

STEP 2: Joint back panel with side panel

STEP 3: Joint side panel with middle & bottom panel

STEP 4: Joint side panel with middle & bottom panel

STEP 5: Fix shelf board

STEP 6: Attach frame on and toekick board

STEP 7: Joint the drawer together, then install the drawer guide.

STEP 8: Fix door&drawer head onto the frame and adjust the cover-space J CABINETS DOOR 2

K ADJUSTABLE SHELF 2

9 1 1/2" SOFTCLOSE HINGE 4

8 3/4" ROUND HEAD SCREW 4

7 BUMPER 16

6 1" ROUND HEAD SCREW 12

5 Selfclose slider 3

4 SHELF CLIP 4

3 9/16"ROUND HEAD SCREW 68

2 CLEAT 17

1 1"FLAT HEAD SCREW FOR CARCASS 22

NO. Description QTY PICTURE

PARTS LIST

HARDWARE LIST

STEP:1 
STEP:2 

STEP:3 
STEP:4 

STEP:5 

STEP:6 

STEP:7 
STEP:8 

A 
A 

A 
A 

A 

A 

A 
A 

B 
B 

B 
B 

B 

B B 

B 

B 
K 

B 
B 

A 

A 

C 

B 

B 

K 

B 

K 

B C C 

D 

D 

D 

E 

J 

I 

C 
C 

J 

Cleat

Bumper

3/4"  round head screw

Shelf clip

Selfclose slider

1" round head screw

1" flat  head screw

9/16"  round head screw

F 
G 

G 

H 

F 
Drawer Box 



30" Combo Vanity with Drawers Left or Drawers Right
NO. Description QTY

A BACK PANEL 1

B SIDE PANEL 2

C TOP&BOTTOM PANEL 1

D TOE KICK 1

E FACE FRAME 1

F DRAWER BOX FRONT AND BACK 6

G DRAWER BOX SIDE 6

H DRAWER BOX BOTTOM 3

ASSEMBLY INSTRUCTIONS

Getting started:

prepare a protection layer, a screwdriver

STEP 1: Joint side panel with back panel

STEP 2: Joint bottom panel with side panel

STEP 3: Joint side panel with bottom & back panel

STEP 4: Attach frame on and toekick board

STEP 5: Joint the drawer together, then install the drawer guide.

STEP 6: Attach the wood block on the top corner.

STEP 7: Fix drawer head on the drawer front and fix door onto the frame and adjust the cover-space I CABINETS DOOR 1

J DRAWER HEAD 4

10 1 1/2" SOFTCLOSE HINGE 2

9 3/4" ROUND HEAD SCREW 2

8 BUMPER 14

7 1" ROUND HEAD SCREW 12

6 Selfclose slider 3

5 9/16"ROUND HEAD SCREW 44

4 CLEAT 11

3 1"FLAT HEAD SCREW FOR CARCASS 4

2 WOOD BLOCK 4

1 1" FLAT HEAD SCREW FOR WOOD BLOCK 8

NO. Description QTY PICTURE

PARTS LIST

HARDWARE LIST

V3021DR 

STEP:4 

STEP:6 STEP:7 

STEP:5 

V3021DL 

A 

B C 

D 

E 

A 
B 

C 

E 

D 

A 

B 

J 

J 

J 

J 

I 

A 
J 

J 

J 

J 

B 

I 
I 

Cleat

Bumper

3/4"  round head screw

Wood block

Selfclose slider

1" round head screw

1" flat  head screw

1" flat  head screw

9/16"  round head screw

F 
G 

G 

H 

F 
Drawer Box 

A 

B 

STEP:1 STEP:2 
A 

B C 

STEP:3

A

B

BC



36" Combo Vanity with Drawers Left or Drawers Right
NO. Description QTY

A BACK PANEL 1

B SIDE PANEL 2

C TOP&BOTTOM PANEL 1

D TOE KICK 1

E FACE FRAME 1

F DRAWER BOX FRONT AND BACK 6

G DRAWER BOX SIDE 6

H DRAWER BOX BOTTOM 3

ASSEMBLY INSTRUCTIONS

Getting started:

prepare a protection layer, a screwdriver

STEP 1: Joint side panel with back panel

STEP 2: Joint bottom panel with side panel

STEP 3: Joint side panel with bottom & back panel

STEP 4: Attach frame on and toekick board

STEP 5: Joint the drawer together, then install the drawer guide.

STEP 6: Attach the wood block on the top corner.

STEP 7: Fix drawer head on the drawer front and fix door onto the frame and adjust the cover-space I CABINETS DOOR 2

J DRAWER HEAD 4

10 1 1/2" SOFTCLOSE HINGE 4

9 3/4" ROUND HEAD SCREW 4

8 BUMPER 16

7 1" ROUND HEAD SCREW 12

6 Selfclose slider 3

5 9/16"ROUND HEAD SCREW 44

4 CLEAT 11

3 1"FLAT HEAD SCREW FOR CARCASS 4

2 WOOD BLOCK 4

1 1" FLAT HEAD SCREW FOR WOOD BLOCK 8

NO. Description QTY PICTURE

PARTS LIST

HARDWARE LIST

V3621DR 

STEP:4 

STEP:6 STEP:7 

STEP:5 

V3621DL 

A 

B C 

D 

E 

A 
B 

C 

E 

D 

A 

B 

J 

J 

J 

J 

I 

A 
J 

J 

J 

J 

B I 

I 
I 

Cleat

Bumper

3/4"  round head screw

Wood block

Selfclose slider

1" round head screw

1" flat  head screw

1" flat  head screw

9/16"  round head screw

F 
G 

G 

H 

F 
Drawer Box 

A 

B 

STEP:1 STEP:2 
A 

B C 

STEP:3

A

B

BC



Vanity Sink Combo
NO. Description QTY

A BACK PANEL 1

B SIDE PANEL 2

C TOP&BOTTOM PANEL 1

D TOE KICK 1

E FACE FRAME 1

F DRAWER BOX FRONT AND BACK 4

G DRAWER BOX SIDE 4

H DRAWER BOX BOTTOM 2

ASSEMBLY INSTRUCTIONS

Getting started:

prepare a protection layer, a screwdriver

STEP 1: Joint side panel with back panel

STEP 2: Joint bottom panel with side panel

STEP 3: Joint side panel with bottom & back panel

STEP 4: Attach frame on and toekick board

STEP 5: Joint the drawer together, then install the drawer guide.

STEP 6: Attach the wood block on the top corner.

STEP 7: Fix drawer head on the drawer front and fix door onto the frame and adjust the cover-space I DRAWER HEAD 2

J DRAWER HEAD 1

K CABINETS DOOR 2

10 1 1/2" SOFTCLOSE HINGE 4

9 3/4" ROUND HEAD SCREW 4

8 BUMPER 12

7 1" ROUND HEAD SCREW 8

6 Selfclose slider 2

5 9/16"ROUND HEAD SCREW 44

4 CLEAT 11

3 1"FLAT HEAD SCREW FOR CARCASS 5

2 WOOD BLOCK 4

1 1" FLAT HEAD SCREW FOR WOOD BLOCK 8

NO. Description QTY PICTURE

PARTS LIST

HARDWARE LIST

STEP:4 

STEP:6 STEP:7 

STEP:5 

Cleat

Bumper

3/4"  round head screw

Wood block

Selfclose slider

1" round head screw

1" flat  head screw

1" flat  head screw

9/16"  round head screw

F 
G 

G 

H 

F 
Drawer Box 

A 

B 

STEP:1 STEP:2 
A 

B C 

STEP:3

A

B

BC

A 
I 

I 
J 

K 

K 

B 

A 

E 

B C 

D 

A 

E 

C 

D 

B 

D 

C 

A 

B 



Vanity Sink Combo with Two Drawer Stacks
NO. Description QTY

A BACK PANEL 1

B SIDE PANEL 2

C TOP&BOTTOM PANEL 1

D TOE KICK 1

E FACE FRAME 1

F DRAWER BOX FRONT AND BACK 12

G DRAWER BOX SIDE 12

H DRAWER BOX BOTTOM 6

I DRAWER HEAD 6

ASSEMBLY INSTRUCTIONS

Getting started:

prepare a protection layer, a screwdriver

STEP 1: Joint side panel with back panel

STEP 2: Joint bottom panel with side panel

STEP 3: Joint side panel with bottom & back panel

STEP 4: Attach frame on and toekick board

STEP 5: Attach the wood block on the top corner.

STEP 6: Joint the drawer together, then install the drawer guide.

STEP 7: Fix drawer head on the drawer front and fix door onto the frame and adjust the cover-space 
STEP 6: Attach the wood block on the top corner. J DRAWER HEAD 1

K CABINETS DOOR 2

10 SOFTCLOSE HINGE 4

9 3/4" ROUND HEAD SCREW 4

8 BUMPER 32

7 1" ROUND HEAD SCREW 8

6 Selfclose slider 2

5 9/16"ROUND HEAD SCREW 44

4 CLEAT 11

3 1"FLAT HEAD SCREW FOR CARCASS 5

2 WOOD BLOCK 4

1 1" FLAT HEAD SCREW FOR WOOD BLOCK 8

NO. Description QTY PICTURE

PARTS LIST

HARDWARE LIST

STEP:4 

STEP:6 
STEP:7 

STEP:5 

Cleat

Bumper

3/4"  round head screw

Wood block

Selfclose slider

1" round head screw

1" flat  head screw

1" flat  head screw

9/16"  round head screw

F 
G 

G 

H 

F 
Drawer Box 

A 

B 

STEP:1 STEP:2 
A 

B C 

STEP:3

A

B

BC

A 
I 

I 

J 

K 
K B 

A 

E 

B C 

D 

A 
E 

C 

D 

B 

D 

C 

A 

B 


